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os
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os
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ra
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os
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f
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)
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1
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ie
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aż
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yk
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te
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f
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=
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ia
−1
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je
a
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st
at
ec
zn
ie
sz
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p
os
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fu
nk
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ra
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a)
f
(x
)
=
3
−
4x
,

b)
f
(x
)
=
(x
2
+
1)
(x
−2
)

x
2
+
1
,

c)
f
(x
)
=
g
(1 x
),
gd
zi
e
g
(x
)
=
1 x
,

d)
f
(x
)
=
(x
−1
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x
2
+
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.
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=
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+
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+
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+
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.
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w
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=
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ra
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−
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+
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=
0.
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+
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w
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49
.
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b)
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(x
+
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c)
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4(
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+
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−
m
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+
m
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>
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b)
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yk
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b
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m
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os
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ra
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+
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b
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w
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b
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os
ią
O
X
lu
b
ew
en
tu
al
ni
e
m
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(d
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∈
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śc
i
je
st
zb
ió
r
w
sz
ys
tk
ic
h
lic
zb
rz
ec
zy
w
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∞
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b
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os
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c
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⎧ ⎪ ⎨ ⎪ ⎩k
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∞
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=
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=
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=
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.
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+
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+
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=
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at
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=
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=
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=
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=
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.
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=
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.
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ią
za
ni
a.

•
Je
śl
i
m
=
−4
∨
m
=
0,
to
ró
w
na
ni
e
m
a
1
ro
zw
ią
za
ni
e.

•
Je
śl
i
m
∈
(−
∞
,−
4)
,
to
ró
w
na
ni
e
ni
e
m
a
ro
zw
ią
za
ń.

5.
2
N
ie
ró
w
n
oś
ć
kw
ad
ra
to
w
a.

D
efi
n
ic
ja
5.
5.
N
ie
ró
w
no
śc
ią
kw
ad
ra
to
w
ą
na
zy
w
ać
b
ęd
zi
em
y
ni
er
ów
no
śc
i
p
o-

st
ac
i:
a
x
2
+
bx
+
c
<
0,
a
x
2
+
bx
+
c
>
0,
a
x
2
+
bx
+
c
�=
0,
a
x
2
+
bx
+
c


0.

gd
zi
e
a
�=
0,
or
az
a
,b
,c
∈

R
.

5.
2.
1
G
ra
fi
cz
n
e
p
rz
ed
st
aw
ie
n
ie
n
ie
ró
w
n
oś
ci
k
w
ad
ra
to
w
ej
.

P
rz
y
ro
zw
ią
zy
w
an
iu
ni
er
ów
no
śc
ik
w
ad
ra
to
w
yc
h,
cz
ęs
to
na
jw
yg
od
ni
ej
sz
ym
sp
o-

so
b
em
je
st
sk
or
zy
st
an
ie
z
m
et
od
y
gr
afi
cz
ne
j,
kt
ór
a
da
je
sz
yb
ki
i
do
kł
ad
ny

w
yn
ik
.
A
by
ro
zw
ią
za
ć
ni
er
ów
no
ść
kw
ad
ra
to
w
ą,
p
os
tę
pu
je
m
y
w
na
st
ęp
uj
ąc
y

sp
os
ób
.
Sz
ki
cu
je
m
y
pr
zy
bl
iż
on
y
w
yk
re
s
fu
nk
cj
i
kw
ad
ra
to
w
ej
da
ne
j
w
zo
re
m
z

ni
er
ów
no
śc
i,
pr
zy
cz
ym
na
jb
ar
dz
ie
j
in
te
re
su
ją
na
s
w
ni
m
m
ie
js
ca
ze
ro
w
e
fu
nk
-

cj
i
(n
ie
m
us
im
y
w
yl
ic
za
ć
w
sp
ół
rz
ęd
ny
ch
w
ie
rz
ch
oł
ka
,
m
ie
js
ca
pr
ze
ci
ęc
ia
z
os
ią

O
Y
it
d.
-
na
jc
zę
śc
ie
j
w
og
ól
e
ni
e
ry
su
je
m
y
os
i
O
Y
!)
.
N
as
tę
pn
ie
pa
tr
zy
m
y
dl
a

ja
ki
ch
w
ar
to
śc
ix
na
sz
ki
co
w
an
y
w
yk
re
s
je
st
”n
ad
”
os
ią
O
X
,a
dl
a
ja
ki
ch
”p
od
”

os
ią
O
X
.
O
dp
ow
ie
dn
io
dl
a
da
ne
j
ni
er
ów
no
śc
i,
w
yb
ie
ra
m
y
pr
ze
dz
ia
ł
kt
ór
y
je
st
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a)
x
3 1
+
x
3 2
,

b)
1 x
2 1
+
1 x
2 2
,

Z
ad
an
ie
41
.
Fu
nk
cj
a
f
(x
)
=
x
2
+
bx
+
c
pr
zy
jm
uj
e
w
ar
to
ść
na
jm
ni
ej
sz
ą
dl
a

x
=
−4
.
W
yz
na
cz
w
ar
to
ść
w
sp
ół
cz
yn
ni
kó
w
b
i
c,
je
że
li:

a)
na
jm
ni
ej
sz
a
w
ar
to
ść
fu
nk
cj
i
je
st
ró
w
na
3,

b)
fu
nk
cj
a
m
a
do
kł
ad
ni
e
je
dn
o
m
ie
js
ce
ze
ro
w
e.

Z
ad
an
ie
42
.
P
ił
kę
rz
uc
on
o
pi
on
ow
o
do
gó
ry
.
O
dl
eg
ło
ść
h
(w
m
et
ra
ch
)
pi
łk
i

od
zi
em
i
w
za
le
żn
oś
ci
od
cz
as
u
t
(w
se
ku
nd
ac
h)
op
is
uj
e
fu
nk
cj
a:

h
(t
)
=
−5
t2
+
10
t
+
2.

a)
Z
ja
ki
ej
w
ys
ok
oś
ci
w
yr
zu
co
no
pi
łk
ę?

b)
P
o
ja
ki
m
cz
as
ie
pi
łk
a
os
ią
gn
ęł
a
m
ak
sy
m
al
ną
od
le
gł
oś
ć
od
zi
em
i
i
ile
on
a

w
yn
os
ił
a?

c)
C
zy
p
o
3
se
ku
nd
ac
h
pi
łk
a
by
ła
ju
ż
na
zi
em
i?

Z
ad
an
ie
43
.
D
an
a
je
st
fu
nk
cj
a
f
(x
)
=

{ 2
x
−
1

dl
a
x
�
1

x
2
−
4x
+
4
dl
a
x
>
1
.

a)
N
as
zk
ic
uj
w
yk
re
s
fu
nk
cj
i
f
i
w
yz
na
cz
je
j
m
ie
js
ca
ze
ro
w
e.

b)
O
dc
zy
ta
j
z
w
yk
re
su
pr
ze
dz
ia
ły
m
on
ot
on
ic
zn
oś
ci
fu
nk
cj
i
f
.

5
R
ów
n
an
ia
i
n
ie
ró
w
n
oś
ci
kw
ad
ra
to
w
e

5.
1
R
ów
n
an
ie
kw
ad
ra
to
w
e.

D
efi
n
ic
ja
5.
1
(r
ów
na
ni
e
kw
ad
ra
to
w
e)
.
R
ów
na
ni
em
kw
ad
ra
to
w
ym
na
zy
w
am
y

ró
w
na
ni
e
p
os
ta
ci
: a
x
2
+
bx
+
c
=
0

gd
zi
e
a
�=
0,
b,
c
∈

R
.

P
rz
y
k
ła
d
5.
2.
R
oz
w
aż
m
y
ró
w
na
ni
e:
(m
−
1)
x
2
−
2m
x
+
m
=
0
(m
∈

R
je
st

pa
ra
m
et
re
m
).
W
za
le
żn
oś
ci
od
w
ar
to
śc
ip
ar
am
et
ru
,z
ac
ho
dz
ij
ed
en
z
pr
zy
pa
d-

kó
w
: •
je
st
to
ró
w
na
ni
e
lin
io
w
e
dl
a
m
=
1,

•
je
st
to
ró
w
na
ni
e
kw
ad
ra
to
w
e
dl
a
m
�=
1.
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R
Ó
W
N
A
N
IA
L
IN
IO
W
E

Z
ad
an
ie
14
.
Fu
nk
cj
a
lin
io
w
a
je
st
ok
re
śl
on
a
w
zo
re
m
f
(x
)
=
(2
m
+
1)
x
−
1.

D
la
ja
ki
ch
w
ar
to
śc
i
pa
ra
m
et
ru
m
:

a)
fu
nk
cj
a
f
je
st
m
al
ej
ąc
a,

b)
w
yk
re
s
fu
nk
cj
i
f
je
st
na
ch
yl
on
y
do
os
i
O
X
p
od
ką
te
m
45
◦ ,

c)
fu
nk
ja
pr
zy
jm
uj
e
w
ar
to
śc
i
do
da
tn
ie
ty
lk
o
dl
a
ar
gu
m
en
tó
w
x
>
2.

Z
ad
an
ie
15
.
Fu
nk
cj
a
lin
io
w
a
je
st
ok
re
śl
on
a
w
zo
re
m
f
(x
)
=
(−
m
+
2)
x
−
3m
.

D
la
ja
ki
ch
w
ar
to
śc
i
pa
ra
m
et
ru
m
:

a)
fu
nk
cj
a
f
je
st
ro
sn
ąc
a,

b)
w
yk
re
s
fu
nk
cj
i
f
je
st
na
ch
yl
on
y
do
os
i
O
X
p
od
ką
te
m
13
5◦
,

c)
fu
nk
cj
a
f
pr
zy
jm
uj
e
w
ar
to
śc
i
uj
em
ne
ty
lk
o
dl
a
ar
gu
m
en
tó
w
x
>
1,

d)
fu
nk
cj
a
f
je
st
ni
ep
ar
zy
st
a,

e)
fu
nk
cj
a
f
ni
e
p
os
ia
da
fu
nk
cj
i
od
w
ro
tn
ej
,

f)
w
yk
re
s
fu
nk
cj
i
f
je
st
pr
os
to
pa
dł
y
do
w
yk
re
su
fu
nk
cj
i
g
(x
)
=
x
+
5,

g)
w
yk
re
s
fu
nk
cj
i
f
je
st
ró
w
no
le
gł
y
do
w
yk
re
su
fu
nk
cj
i
g
(x
)
=
4x
−
4.

h)
w
yk
re
s
fu
nk
cj
i
f
pr
ze
ch
od
zi
pr
ze
z
pu
nk
t:
A
=
(3
,6
).

2
R
ów
n
an
ia
li
n
io
w
e

2.
1
P
od
st
aw
ow
e
p
o
ję
ci
a

D
efi
n
ic
ja
2.
1
(r
ów
na
ni
e
lin
io
w
e)
.
R
ów
na
ni
em
lin
io
w
ym
b
ęd
zi
em
y
na
zw
ya
ć

ró
w
na
ni
e
p
os
ta
ci
:
a
x
=
b,
gd
zi
e
x
oz
na
cz
a
ni
ew
ia
do
m
ą,
na
to
m
ia
st
a
i
b
to

pa
ra
m
et
ry
.

R
oz
w
ią
za
ć
p
ow
yż
sz
e
ró
w
na
ni
e
oz
na
cz
a
zn
al
eź
ć
w
sz
ys
tk
ie
lic
zb
y,
kt
ór
e
p
od
-

st
aw
io
ne
w
m
ie
js
ce
x
sp
eł
ni
aj
ą
ró
w
no
ść
.
Je
śl
i
ni
e
za
zn
ac
zo
no
te
go
in
ac
ze
j,

pr
zy
jm
uj
em
y,
że
x
m
oż
e
by
ć
do
w
ol
ną
lic
zb
ą
rz
ec
zy
w
is
tą
.

P
rz
ea
na
liz
uj
p
on
iż
sz
e
pr
zy
kł
ad
y
i
sp
ra
w
dź
cz
y
ro
zu
m
ie
sz
sk
ąd
w
zi
ęł
y
si
ę

ta
ki
e,
a
ni
e
in
ne
w
yn
ik
i.

P
rz
y
k
ła
d
2.
2.
R
oz
w
ią
za
ni
em
ró
w
na
ni
a
2x
=
0
je
st
do
kł
ad
ni
e
je
dn
a
lic
zb
a:

0.
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2
L
ic
zb
a
ro
zw
ią
za
ń
ró
w
na
ni
a
lin
io
w
eg
o.
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P
rz
y
k
ła
d
2.
3.
R
oz
w
ią
za
ni
em
ró
w
na
ni
a
0x
=
0
je
st
zb
ió
r
w
sz
ys
tk
ic
h
lic
zb
rz
e-

cz
yw
is
ty
ch
(m
ów
im
y
te
ż,
że
pi
er
w
ia
st
ki
em
te
go
ró
w
na
ni
a
je
st
do
w
ol
na
lic
zb
a

rz
ec
zy
w
is
ta
).

P
rz
y
k
ła
d
2.
4.
R
oz
w
ią
za
ni
em
ró
w
na
ni
a
0x
=
3
je
st
zb
ió
r
pu
st
y,
co
oz
na
cz
a,

że
ża
dn
a
lic
zb
a
rz
ec
zy
w
is
ta
ni
e
je
st
pi
er
w
ia
st
ki
em
te
go
ró
w
na
ni
a.

2.
2
L
ic
zb
a
ro
zw
ią
za
ń
ró
w
n
an
ia
li
n
io
w
eg
o.

F
ak
t
2.
5.
O
gó
ln
ie
,
ro
zw
ią
zu
ją
c
ró
w
na
ni
e
lin
io
w
e
a
x
=
b
ot
rz
ym
uj
em
y:

1.
je
dn
o
ro
zw
ią
za
ni
e
po
st
ac
i
x
=
−
b a
,
je
śl
i
a
�=
0,

2.
ni
es
ko
ńc
ze
ni
e
w
ie
le
ro
zw
ią
za
ń
(c
zy
li
x
∈

R
),
je
śl
i
a
=
0
i
je
dn
oc
ze
śn
ie

b
=
0,

3.
zb
ió
r
pu
st
y
-
br
ak
ro
zw
ią
za
ń
(x
∈
∅)
,
je
śl
i
a
=
0
i
b
�=
0.

W
n
io
se
k
:
R
ów
na
ni
e
lin
io
w
e
m
oż
e
m
ie
ć
0,
1
lu
b
∞
ro
zw
ią
za
ń.

2.
3
R
ów
n
an
ia
li
n
io
w
e
z
za
ło
że
n
ia
m
i

W
ró
w
na
ni
ac
h
lin
ow
yc
h,
o
kt
ór
yc
h
pi
sa
liś
m
y
do
ty
ch
cz
as
,
za
kł
ad
an
o
(c
ho
ci
aż

ni
e
by
ło
to
ni
gd
zi
e
w
yr
aź
ni
e
na
pi
sa
ne
),
że
x
m
oż
e
by
ć
do
w
ol
ną
lic
zb
ą
rz
ec
zy
-

w
is
tą
(j
es
t
to
p
od
ob
ni
e
ja
k
w
pr
zy
pa
dk
u
fu
nk
cj
i
-
dz
ie
dz
in
a
na
tu
ra
ln
a)
.
M
oż
e

si
ę
je
dn
ak
zd
ar
zy
ć,
że
ró
w
na
ni
e
b
ęd
zi
e
m
ia
ło
dz
ie
dz
in
ę
za
da
ną
z
gó
ry
.P
on
iż
sz
a

de
fin
ic
ja
je
st
w
ła
śc
iw
ie
ro
zs
ze
rz
en
ie
m
p
op
rz
ed
ni
ej
.

D
efi
n
ic
ja
2.
6
(r
ów
na
ni
e
lin
io
w
e
z
za
ło
że
ni
am
i)
.
R
ów
na
ni
e
p
os
ta
ci
e
a
x
=
b

pr
zy
za
ło
że
ni
u
x
∈
D
na
zy
w
am
y
lin
io
w
ym
(z
za
ło
że
ni
am
i)
,a
zb
ió
r
D
na
zy
w
a-

m
y
dz
ie
dz
in
ą
te
go
ró
w
na
ni
a.

O
cz
yw
iś
ci
e,
pr
zy
p
os
zu
ki
w
an
iu
ro
zw
ią
za
ni
a
ta
ki
eg
o
ró
w
na
ni
a,
in
te
re
su
ją

na
s
ty
lk
o
ta
ki
e
lic
zb
y
x
kt
ór
e
sp
eł
an
ia
ją
da
ne
ró
w
na
ni
e
i
je
dn
oc
ze
śn
ie
na
le
żą

do
zb
io
ru
D
.

P
rz
y
k
ła
d
2.
7.
R
oz
w
ią
żm
y
ró
w
na
ni
e
3x
=
5
pr
zy
za
ło
że
ni
u
x
∈

N
.O
cz
yw
iś
ci
e

ró
w
na
ni
e
ta
ki
e
ni
e
m
a
ro
zw
ią
za
ń,
ot
rz
ym
uj
m
y
zb
ió
r
pu
st
y
(x
∈
∅)
.(
dl
ac
ze
go
?)

P
rz
y
k
ła
d
2.
8.
R
oz
w
aż
m
y
ró
w
na
ni
e
6x
=
2
pr
zy
za
ło
że
ni
u
x
∈
(0
,∞
).
R
ów
-

na
ni
e
to
m
a
je
dn
o
ro
zw
ią
za
ni
e
x
=
1 3
.
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f)
je
j
w
yk
re
s
pr
ze
ci
na
ł
oś
O
Y
w
pu
nk
ci
e
(0
,3
)
i
by
ł
st
yc
zn
y
do
os
i
O
X
.

R
oz
w
ią
za
ni
a
zo
br
az
uj
na
od
p
ow
ie
dn
im
ry
su
nk
u.

Z
ad
an
ie
36
.
D
la
ja
ki
ch
w
ar
to
śc
i
pa
ra
m
et
ru
m
p
od
an
a
fu
nk
cj
a
p
os
ia
da
do
-

kł
ad
ni
e
je
dn
o
m
ie
js
ce
ze
ro
w
e:

a)
f
(x
)
=
m
x
2
+
3x
+
4,

b)
f
(x
)
=
x
2
−
m
x
+
2,

c)
f
(x
)
=
(m
+
1)
x
2
−
2(
m
+
1)
x
+
3m
.

Z
ad
an
ie
37
.
W
yz
na
cz
na
jw
ię
ks
zą
in
aj
m
ni
ej
sz
ą
w
ar
to
ść
fu
nk
cj
if
w
p
od
an
ym

pr
ze
dz
ia
le
:

a)
f
(x
)
=
−2
x
2
+
2x
−
1,
x
∈
〈0
,2
〉,

b)
f
(x
)
=
x
2
+
4x
−
2,
x
∈
〈−
1,
2〉
,

c)
f
(x
)
=
x
−
x
2
.
x
∈
〈0
,2
〉.

Z
ad
an
ie
38
.
W
yr
óż
ni
ki
p
od
an
yc
h
tr
ój
m
ia
nó
w
są
do
da
tn
ie
(s
pr
aw
dź
to
!)
.O
b-

lic
z
su
m
ę
i
ilo
cz
yn
m
ie
js
c
ze
ro
w
yc
h
ka
żd
eg
o
z
tr
ój
m
ia
nó
w
(b
ez
w
yl
ic
za
ni
a

w
ar
to
śc
i
ty
ch
m
ie
js
c
ze
ro
w
yc
h)
:

a)
f
(x
)
=
x
2
−
8x
+
12
,

b)
f
(x
)
=
2x
2
−
3x
−
1,

c)
f
(x
)
=
−3
x
2
+
5x
+
2,

d)
f
(x
)
=
1 2
x
2
+
4x
−
3.

Ja
ki
eg
o
zn
ak
u
są
m
ie
js
ca
ze
ro
w
e
ka
żd
eg
o
z
ty
ch
tr
ój
m
ia
nó
w
?

Z
ad
an
ie
39
.
D
la
ja
ki
ch
w
ar
to
śc
ip
ar
am
et
ru
m
fu
nk
cj
a
f
(x
)
=
x
2
+
(m
−1
)x
+

3: a)
pr
zy
jm
uj
e
ty
lk
o
w
ar
to
śc
i
do
da
tn
ie
,

b)
pr
zy
jm
uj
e
ty
lk
o
w
ar
to
śc
i
uj
em
ne
,

c)
je
st
fu
nk
cj
ą
pa
rz
ys
tą
.

Z
ad
an
ie
40
.
P
on
iż
sz
e
w
yr
aż
en
ia
pr
ze
ds
ta
w
za
p
om
oc
ą
x
1
+
x
2
or
az
x
1
x
2
:
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w
yn
os
i
−4
i
je
st
os
ią
ga
na
dl
a
x
=
0,
al
e
ni
e
p
os
ia
da
w
ar
to
śc
i
na
jw
ię
k-

sz
ej
.

2.
O
b
et
ni
jm
y
dz
ie
dz
in
ę
do
pr
ze
dz
ia
łu
x
∈
〈−
1,
1〉
.
O
tr
zy
m
uj
em
y
no
w
ą
(i
n-

ną
!)
fu
nk
cj
ę.
P
od
ob
ni
e
ja
k
p
op
rz
ed
ni
o
p
os
ia
da
on
a
w
ar
to
ść
na
jw
ię
ks
zą

−4
kt
ór
ą
os
ią
ga
dl
a
x
=
0.
W
od
ró
żn
ie
ni
u
je
dn
ak
od
p
op
rz
ed
ni
ej
,
ta

fu
nk
cj
a
p
os
ia
da
ró
w
ni
eż
w
ar
to
ść
na
jw
ię
ks
zą
−3
,
kt
ór
ą
os
ią
ga
w
dw
óc
h

m
ie
js
ac
h,
dl
a
x
=
±1
.

3.
N
ie
ch
te
ra
z,
dz
ie
dz
in
ą
na
sz
ej
no
w
ej
fu
nk
cj
i
b
ęd
zi
e
in
ny
pr
ze
dz
ia
ł:
x
∈

〈1
,2
〉.
T
ak
a
fu
nk
cj
a
p
os
ia
da
w
ar
to
ść
na
jm
ni
ej
sz
ą,
kt
ór
a
w
yn
os
i−
3
i
je
st

os
ią
ga
na
dl
a
x
=
1
or
az
w
ar
to
ść
na
jw
ię
ks
zą
,
kt
ór
a
w
yn
os
i
0
i
je
st
os
ią
-

ga
na
dl
a
x
=
2.

A
by
le
pi
ej
zr
oz
um
ie
ć
p
ow
yż
sz
y
pr
zy
kł
ad
,
w
yk
on
aj
od
p
ow
ie
dn
ie
ry
su
nk
i.
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Z
ad
an
ie
33
.
D
la
p
od
an
yc
h
fu
nk
cj
i
zn
aj
dź
p
os
ta
ć
og
ól
ną
,
ka
no
ni
cz
ną
,
ilo
cz
y-

no
w
ą,
w
ie
rz
ch
oł
ek
pa
ra
b
ol
i
i
m
ie
js
ca
ze
ro
w
e:

a)
f
(x
)
=
2x
2
+
6x
+
8,

b)
f
(x
)
=
2(
x
−
3)
2
,

c)
f
(x
)
=
(x
+
3)
2
−
6,

d)
f
(x
)
=
2x
2
+
6x
.

Z
ad
an
ie
34
.
N
as
zk
ic
uj
w
yk
re
sy
fu
nk
cj
i
z
za
da
ni
a
1,
p
od
aj
pr
ze
dz
ia
ły
m
on
o-

to
ni
cz
no
śc
i
i
zb
ió
r
w
ar
to
śc
i.

Z
ad
an
ie
35
.
W
yz
na
cz
w
ar
to
śc
iw
sp
ół
cz
yn
ni
kó
w
b
ic
fu
nk
cj
if
(x
)
=
x
2
+
bx
+
c

ta
k,
ab
y:

a)
do
w
yk
re
su
te
j
fu
nk
cj
i
na
le
ża
ły
pu
nk
ty
(1
,1
)
or
az
(0
,−
5)
,

b)
do
w
yk
re
su
te
j
fu
nk
cj
i
na
le
ża
ły
pu
nk
ty
(3
,9
)
or
az
(−
1,
−9
),

c)
fu
nk
cj
a
ta
m
ia
ła
dw
a
m
ie
js
ca
ze
ro
w
e
2
i
−3
,

d)
fu
nk
cj
a
ta
m
ia
ła
do
kł
ad
ni
e
je
dn
o
m
ie
js
ce
ze
ro
w
e
3,

e)
fu
nk
cj
a
ta
os
ią
gn
ęł
a
m
in
im
um
ró
w
ne
5
dl
a
x
=
−2
,

12
2.
4
Z
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ia

P
rz
y
k
ła
d
2.
9.
R
ów
na
ni
e
0x
=
0
pr
zy
za
ło
że
ni
u
x
∈
〈0
,∞
)
m
a
ni
es
ko
ńc
ze
-

ni
e
w
ie
le
ro
zw
ią
za
ń,
cz
yl
i
...
je
go
ro
zw
ią
za
ni
em
je
st
ca
ła
dz
ie
dz
in
a
(w
sz
ys
tk
ie

lic
zb
y
z
dz
ie
dz
in
y
sp
eł
ni
aj
ą
to
ró
w
na
ni
e)
,
cz
yl
i:
x
∈
〈0
,∞
).

N
aj
pr
os
ts
zy
m
sp
os
ob
em
ro
zw
ią
za
ni
a
ró
w
na
ni
a
lin
io
w
eg
o
a
x
=
b
z
za
ło
-

że
ni
em
x
∈
D
je
st
ro
zw
ią
za
ni
e
„z
w
yk
łe
go
”
ró
w
na
ni
a
lin
io
w
eg
o,
a
na
st
ęp
ni
e

ob
lic
ze
ni
e
cz
ęś
ci
w
sp
ól
ne
j
zb
io
ru
ro
zw
ią
za
ń
or
az
zb
io
ru
D
.

U
w
ag
a
2.
10
.
Je
śl
iw
cz
as
ie
pr
ac
y
na
d
ro
zw
ią
za
ni
em
ja
ki
eg
oś
pr
ob
le
m
u
ot
rz
y-

m
as
z
ró
w
na
ni
e
(n
ie
ko
ni
ec
zn
ie
lin
io
w
e)
Z
A
W
SZ
E
za
st
an
ów
si
ę,
cz
y
ni
e
je
st
on
o

„o
ba
rc
zo
ne
”
ja
ki
m
ś
za
ło
że
ni
em
.

P
rz
y
k
ła
d
2.
11
.
Sp
ró
bu
jm
y
ro
zw
ią
za
ć
za
da
ni
e
o
na
st
ęp
uj
ąc
ej
tr
eś
ci
:
Je
de
n

bi
le
t
do
ki
na
ko
sz
tu
je
10
zł
.Z
a
ile
ta
ki
ch
bi
le
tó
w
za
pł
ac
is
z
37
zł
?
A
by
ro
zw
ią
za
ć

to
za
da
ni
e,
m
us
im
y
w
za
sa
dz
ie
ro
zw
ią
za
ć
pr
os
te
ró
w
na
ni
e:
10
x
=
37
,
al
e
pr
zy

za
ło
że
ni
u
x
∈

N
(d
la
cz
eg
o?
)
-
i
oc
zy
w
iś
ci
e
ok
az
uj
e
si
ę,
że
ro
zw
ią
za
ni
em
je
st

zb
ió
r
pu
st
y.

P
rz
y
k
ła
d
2.
12
.
R
ów
na
ni
e
p
os
ta
ci
:
−x
−3
x
+
2
=
x
+
1

x
+
2
je
st
oc
zy
w
iś
ci
e
ró
w
no
w
aż
ne

ró
w
na
iu
−2
x
=
4,
gd
zi
e
x
�=
−2
(d
la
cz
eg
o?
).
Je
st
to
ró
w
na
ni
e
sp
rz
ec
zn
e

(z
bi
or
em
ro
zw
ią
za
ń
je
st
zb
ió
r
pu
st
y)
.

2.
4
Z
ad
an
ia

Z
ad
an
ie
16
.
P
od
aj
lic
zb
ę
pi
er
w
ia
st
kó
w
da
ne
go
ró
w
na
ni
a
w
za
le
żn
oś
ci
od

w
ar
to
śc
i
w
ys
tę
pu
ją
cy
ch
pa
ra
m
et
ró
w
.

a)
m
x
−
1
=
2x
,

b)
m
2
x
+
m
=
x
+
1,

c)
a
x
+
b
=
cx
,

d)
a
2
x
+
3
=
2
−
(b
2
+
1)
x
,

e)
a
x
2
+
3x
−
4
=
7
+
a
2
.

Z
ad
an
ie
17
.
R
oz
w
ią
ż
p
od
an
e
ró
w
na
ni
e
(u
w
zg
lę
dn
ia
ją
c
w
sz
ys
tk
ie
m
oż
liw
oś
ci

dl
a
pa
ra
m
et
ró
w
).

a)
4x
+
3
=
m
x
−
m
,

b)
3x
−
m
=
m
x
−
3,

c)
k
2
x
−
1
=
x
−
k
,

d)
a
x
+
4
=
8x
−
b.
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Z
ad
an
ie
18
.
R
oz
w
ią
ż
p
od
an
e
ró
w
na
ni
a:

a)
(x
−
3)
(x
+
4)
−
2(
3x
−
2)
=
(x
−
4)
2
,
gd
zi
e
x
∈

N
,

b)
15
2x
+
7
=

6
x
+
2
,

c)
5(
x
−
1)
2
−
2(
x
+
3)
2
=
3(
x
+
2)
2
−
7(
6x
−
1)
,
gd
zi
e
x


0,

d)
(x
+
1)
3
−
(x
−
1)
3
=
6(
x
2
+
x
+
1)
,
gd
zi
e
x
�=
2.

Z
ad
an
ie
19
.
N
a
p
ew
ny
m
sp
ra
w
dz
ia
ni
e
z
m
at
em
at
yk
ib
ył
o
do
ro
zw
ią
za
ni
a
10

za
da
ń.
U
st
al
on
o
ró
w
ni
eż
na
st
ęp
uj
ąc
e
za
sa
dy
.
Z
a
do
br
ze
ro
zw
ią
za
ne
za
da
in
e

uc
ze
ń
ot
rz
ym
yw
ał
5
pu
nk
tó
w
,
na
to
m
ia
st
za
ka
żd
e
bł
ęd
ne
ro
zw
ią
za
ni
e
uc
ze
ń

tr
ac
ił
3
pu
nk
ty
.
Il
e
za
da
ń
zo
st
ał
o
ro
zw
ią
za
ny
ch
do
br
ze
je
śl
i
uc
ze
ń
ot
rz
ym
ał
:

a)
34
pu
nk
ty
,

b)
12
pu
nk
tó
w
,
c)
2
pu
nk
ty
,

d)
−7
pu
nk
tó
w
?

Z
ad
an
ie
20
.
D
łu
go
pi
s
ko
sz
tu
je
3
zł
.
Il
e
ko
sz
tu
je
oł
ów
ek
,
je
śl
i
za
2
dł
ug
op
is
y

i
3
oł
ów
ki
za
pł
ac
on
o:

a)
9
zł
,

b)
7
zł
,

c)
7
zł
.
i
50
gr
?

3
U
kł
ad
y
ró
w
n
ań
li
n
io
w
yc
h

D
efi
n
ic
ja
3.
1.
U
kł
ad
em
dw
óc
h
ró
w
na
ń
lin
io
w
yc
h
z
dw
ie
m
a
ni
ew
ia
do
m
ym
i

na
zy
w
am
y
uk
ła
d
p
os
ta
ci
:
{ a

1
x
+
b 1
y
=
c 1

a
2
x
+
b 2
y
=
c 2
,

gd
zi
e
pr
zy
na
jm
ni
ej
je
de
n
z
pa
ra
m
te
ró
w
a
1
i
b 1
or
az
pr
zy
na
jm
ni
ej
je
de
n
z

pa
ra
m
et
ró
w
a
2
i
b 2
je
st
ró
żn
y
od
ze
ra
(t
o
za
ło
że
ni
e
je
st
p
ot
rz
eb
ne
p
o
to
,
ab
y

ka
żd
e
z
ró
w
na
ń
w
yz
na
cz
ał
o
na
pł
as
zc
zy
źn
ie
p
ew
ną
pr
os
tą
).

P
ro
bl
em
3.
1.
Ja
ki
zb
ió
r
pu
nk
tó
w
na
pł
as
zc
zy
źn
ie
ok
re
śl
a
ró
w
na
ni
e
0x
+
0y
=
c.

C
zy
zb
ió
r
te
n
za
le
ży
od
w
ar
to
śc
i
pa
ra
m
et
ru
c?

3.
1
M
et
od
y
ro
zw
ią
zy
w
an
ia
u
kł
ad
ów
ró
w
n
ań

P
on
ie
w
aż
ka
żd
e
z
ró
w
na
ń
ok
re
śl
a
p
ew
ną
pr
os
tą
na
pł
as
zc
zy
źn
ie
za
te
m
ro
zw
ią
-

za
ni
em
uk
ła
du
są
pa
ry
(x
,y
)
w
yz
na
cz
aj
ąc
e
pu
nk
ty
w
sp
ól
ne
ty
ch
pr
os
ty
ch
.J
ak

w
ia
do
m
o
dw
ie
pr
os
te
m
og
ą
m
ie
ć
0,
1
lu
b
∞
pu
nt
kó
w
w
sp
ól
ny
ch
(c
zy
p
ot
ra
fis
z
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4.
5
W
ła
sn
oś
ci
fu
nk
cj
i
kw
ad
ra
to
w
ej
.

4.
5
W
ła
sn
oś
ci
fu
n
kc
ji
kw
ad
ra
to
w
ej
.

P
on
iż
ej
ze
br
an
o
p
od
st
aw
ow
e
w
ła
sn
oś
ci
fu
nk
cj
i
kw
ad
ra
to
w
ej
.

1.
Z
b
ió
r
w
ar
to
śc
i
fu
n
kc
ji
k
w
ad
ra
to
w
ej
.J
eś
li
a
>
0,
to
zb
io
re
m
w
ar
to
śc
i

je
st
pr
ze
dz
ia
ł
〈q
,∞
),
je
śl
i
na
to
m
ia
st
a
<
0,
to
zb
io
re
m
w
ar
to
śc
i
je
st

pr
ze
dz
ia
ł
(−
∞
,q
〉.
C
zy
w
ie
sz
dl
ac
ze
go
?

2.
M
on
ot
on
ic
zn
oś
ć.
Ż
ad
na
fu
nk
cj
a
kw
ad
ra
to
w
a
ni
e
je
st
m
on
ot
on
ic
zn
a,

a
je
dy
ni
e
pr
ze
dz
ia
ła
m
i
m
on
ot
on
ic
zn
a.
Je
śl
i
a
>
0,
to
fu
nk
cj
a
m
al
ej
e
w

pr
ze
dz
ia
le
(−
∞
,p
)
a
ro
śn
ie
w
pr
ze
dz
ia
le
(p
,∞
).
N
at
om
ia
st
,
je
śl
i
a
<
0,

to
fu
nk
cj
a
ro
śn
ie
w
pr
ze
dz
ia
le
(−
∞
,p
)
na
to
m
ia
st
ro
śn
ie
w
pr
ze
dz
ia
le

(p
,∞
).

3.
R
óż
n
ow
ar
to
śc
io
w
oś
ć.
Ż
ad
na
fu
nk
cj
a
kw
ad
ra
to
w
a
n
ie
je
st
ró
żn
ow
ar
-

to
śc
io
w
a,
a
co
za
ty
m
id
zi
e
ni
e
p
os
ia
da
fu
nk
cj
i
od
w
ro
tn
ej
.

4.
6
F
u
n
kc
ja
kw
ad
ra
to
w
a
ok
re
śl
on
a
n
a
p
rz
ed
zi
al
e
d
om
kn
ię
ty
m
.

B
ar
dz
o
cz
ęs
to
ro
zw
ią
za
ni
e
pr
ob
le
m
u
sp
ro
w
ad
za
si
ę
do
ro
zw
aż
en
ia
fu
nk
cj
i:

f
(x
)
=
a
x
2
+
bx
+
c
pr
zy
za
ło
że
ni
u,
że
x
∈
〈r 1
,r
2
〉,
gd
zi
e
r 1
or
az
r 2
to
do
-

w
ol
ne
lic
zb
y
rz
ec
zy
w
is
te
ta
ki
e,
że
r 1
<
r 2
.
C
o
pr
aw
da
fu
nk
cj
a
ta
je
st
da
na

w
zo
re
m
fu
nk
cj
i
kw
ad
ra
to
w
ej
,
al
e
je
j
dz
ie
dz
in
ą
ni
e
je
st
ca
ły
zb
ió
r
lic
zb
rz
ec
zy
-

w
is
ty
ch
a
je
dy
ni
e
pr
ze
dz
ia
ł
〈r 1
,r
2
〉.
M
ów
im
y,
że
ob
ci
na
m
y
fu
nk
cj
ę
kw
ad
ra
to
w
ą

do
pr
ze
dz
ia
łu
〈r 1
,r
2
〉.
W
yk
re
se
m
te
j
fu
nk
cj
i
ni
e
je
st
ca
ła
pa
ra
b
ol
a,
a
je
dy
ni
e

je
j
fr
ag
m
en
t
za
w
ar
ty
m
ię
dz
y
pr
os
ty
m
i
x
=
r 1
or
az
x
=
r 2
(ł
ąc
ze
ni
z
pu
nk
ta
m
i

ko
ńc
ow
ym
i)
.

P
ro
bl
em
4.
1.
R
oz
w
aż
fu
nk
cj
ę
f
(x
)
=
x
2
ob
ci
ęt
ą
do
ró
żn
yc
h
pr
ze
dz
ia
łó
w
,
np
:

x
∈
〈−
1,
2〉
,
x
∈
〈1
,2
〉,
x
∈
〈0
,3
〉,
x
∈
〈−
2,
−1
〉.
Sp
ró
bu
j
om
ów
ić
„t
yp
y”

ot
rz
ym
an
yc
h
w
yk
re
só
w
.
Z
au
w
aż
m
y,
że
ot
rz
ym
an
e
fu
nk
cj
e
m
og
ą
m
ie
ć
ró
żn
e

w
ła
sn
oś
ci
-
in
ne
ni
ż
fu
nk
cj
a
pr
ze
d
ob
ci
ęc
ie
m
.
W
p
ew
ny
ch
sy
tu
ac
ja
ch
m
oż
e-

m
y
ot
rz
ym
ać
fu
nk
cj
ę
m
on
ot
on
ic
zn
ą,
ró
żn
ow
ar
to
śc
io
w
ą,
ze
zm
ni
ej
sz
on
ą
lic
zb
ą

m
ie
js
c
ze
ro
w
yc
h
it
d.
N
aj
w
aż
ni
ej
sz
ą
no
w
ą
w
ła
sn
oś
ci
ą
je
st
fa
kt
,
że
ka
żd
a
ta
ka

fu
nk
cj
a
p
os
ia
da
w
ar
to
ść
na
jm
ni
ej
sz
ą
or
az
w
ar
to
ść
na
jm
ni
ej
sz
ą
(m
ów
im
y,
że

fu
nk
cj
a
os
ią
ga
sw
oj
e
kr
es
y)
.

P
rz
y
k
ła
d
4.
9
(w
ar
to
ść
na
jw
ię
ks
za
in
aj
m
ni
ej
sz
a)
.
R
oz
w
aż
m
y
p
on
iż
sz
e
fu
nk
-

cj
e.
W
sz
ys
tk
ie
da
ne
b
ęd
ą
je
dn
ym
w
zo
re
m
f
(x
)
=
x
2
−
4.

1.
N
ie
ch
w
ty
m
pr
zy
pa
dk
u,
dz
ie
dz
in
ą
fu
nk
cj
i
b
ęd
zi
e
ca
ły
zb
ió
r
lic
zb
rz
e-

cz
yw
is
ty
ch
.
W
te
dy
,
na
sz
a
fu
nk
cj
a
p
os
ia
da
w
ar
to
ść
na
jm
ni
ej
sz
ą,
kt
ór
a



4.
4
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a
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w
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w
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p
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w
ym
ie
rn
ym
i.
Je
dn
ak
w
ie
le
rz
ec
zy
o
ty
ch
pi
er
w
ia
st
ka
ch
m
oż
na
p
ow
ie
dz
ie
ć,
ni
e

zn
aj
ąc
ic
h
do
kł
ad
ne
j
w
ar
to
śc
i.
Z
ap
is
zm
y
w
zo
ry
V
ie
te
’a
dl
a
te
j
fu
nk
cj
i:

{ x
1
+
x
2
=
8

x
1
x
2
=
6

O
dr
az
u
w
id
ać
st
ąd
,
że
ob
ie
lic
zb
y
x
1
i
x
2
są
do
da
tn
ie
(d
la
cz
eg
o?
).
B
ez
w
yl
i-

cz
an
ia
w
ar
to
śc
i
ty
ch
pi
er
w
ia
st
kó
w
m
oż
na
ró
w
ni
eż
p
ow
ie
dz
ie
ć
(p
ol
ic
zy
ć)
,
że
:

a)
su
m
a
kw
ad
ra
tó
w
x
1
ix
2
w
yn
os
i:
x
2 1
+
x
2 2
=
(x
1
+
x
2
)2
−
2x
1
x
2
=
82
−
2
∗6
=

64
−
12
=
52
,

b)
su
m
a
od
w
ro
tn
oś
ci
x
1
i
x
2
w
yn
os
i:
1 x
1
+
1 x
2
=
x
2
+
x
1

x
1
x
2
=
8 6
=
4 3
,

c)
od
le
gł
oś
ć
x
1
i
x
2
w
yn
os
i:
|x 1
−
x
2
|=
√ (x

1
−
x
2
)2
=
√ x
2 1
−
2x
1
x
2
+
x
2 2
=

√ (x
1
+
x
2
)2
−
4x
1
x
2
=
√ 8
2
−
4
∗6
=
√ 4
0,

P
od
ob
ny
m
i
m
et
od
am
i
m
oż
na
w
yl
ic
zy
ć
(p
ra
w
ie
)
ka
żd
e
in
ne
w
yr
aż
en
ie
sy
m
e-

tr
yc
zn
e
ze
w
zg
lę
du
na
x
1
i
x
2
.
(S
ym
et
ry
cz
ne
,
to
zn
ac
zy
,
że
gd
y
za
m
ie
ni
en
im
y

ro
la
m
i
x
1
or
az
x
2
to
ni
c
si
ę
ni
e
zm
ie
ni
.)

4.
4
F
u
n
kc
ja
kw
ad
ra
to
w
a
w
ró
żn
ej
p
os
ta
ci
.

Is
tn
ie
je
w
ie
le
p
os
ta
ci
za
pi
su
w
zo
ru
fu
nk
cj
ik
w
ad
ra
to
w
ej
.P
on
iż
ej
ze
br
an
o
ki
lk
a

na
jc
zę
śc
ie
j
uż
yw
an
yc
h
fo
rm
,
w
ra
z
z
p
od
an
ym
i
za
le
ta
m
i
ka
żd
eg
o
ze
sp
os
ob
ów
.

1.
P
os
ta
ć
og
ól
n
a:
f
(x
)
=
a
x
2
+
bx
+
c
-
„w
id
ać
”
pu
nk
t
pr
ze
ci
ęc
ia
z
os
ią

O
Y
,
ła
tw
o
ot
rz
ym
ać
w
zo
ry
V
ie
te
’a
.

2.
P
os
ta
ć
ka
n
on
ic
zn
a:
f
(x
)
=
a
(x
−
p
)2
+
q
-
„w
id
ać
”
w
ie
rz
ch
oł
ek
or
az

lic
zb
ę
m
ie
js
c
ze
ro
w
yc
h.

3.
P
os
ta
ć
il
o
cz
y
n
ow
a:
f
(x
)
=
a
(x
−
x
1
)(
x
−
x
2
)
(i
st
ni
ej
e
ty
lk
o
w
te
dy
,g
dy

Δ


0,
co
w
ię
ce
j
gd
y
Δ
=
0
sk
ra
ca
si
ę
do
za
pi
su
f
(x
)
=
a
(x
−
x
0
)2
)
-

„w
id
ać
”
m
ie
js
ca
ze
ro
w
e.

W
ar
to
zn
ać
p
od
an
e
w
yż
ej
za
pi
sy
,
ta
k
ab
y
m
oż
na
by
ło
w
od
p
ow
ie
dn
ic
h

za
da
ni
a
od
ra
zu
za
st
os
ow
ać
od
p
ow
ie
dn
iz
ap
is
io
dc
zy
ta
ć
m
oż
liw
ie
ja
k
na
jw
ię
ce
j

in
fo
rm
ac
ji
b
ez
w
yk
on
yw
an
ia
do
da
tk
ow
yc
h
ob
lic
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y
ro
zw
ią
-

za
ń)
uk
ła
du
kt
ór
y
p
os
ia
da
pa
ra
m
et
ry
,
w
pr
ow
ad
zi
m
y
tz
w
.
w
yz
na
cz
ni
ki
sz
cz
e-

gó
ło
w
e.

D
efi
n
ic
ja
3.
9
(w
yz
na
cz
ni
ki
sz
cz
eg
ół
ow
e
uk
ła
du
ró
w
na
ń)
.
W
yz
na
cz
ni
ka
m
i

sz
cz
eg
ół
ow
ym
i
ni
ew
ia
do
m
yc
h
x
i
y
na
zy
w
ać
b
ęd
zi
em
y
od
p
ow
ie
dn
io
lic
zb
y:

W
x
=

∣ ∣ ∣ ∣ ∣c 1
b 1

c 2
b 2

∣ ∣ ∣ ∣ ∣=
c 1
b 2
−
c 2
b 1
,

or
az

W
y
=

∣ ∣ ∣ ∣ ∣a 1
c 1

a
2
c 2

∣ ∣ ∣ ∣ ∣=
a
1
c 2
−
a
2
c 1
.

F
ak
t
3.
10
.
Je
śl
i
w
yz
na
cz
ni
k
gł
ów
ny
uk
ła
du
W
�=
0,
to
ro
zw
ią
za
ni
em
uk
ła
du

je
st
pa
ra
lic
zb
:

{ x
=
W
x
W

y
=
W
y

W

.



3.
3
Z
ad
an
ia

17

C
o
w
ię
ce
j
m
oż
na
ud
ow
od
ni
ć
na
st
ęp
uj
ąc
e
w
ła
sn
oś
ci
.

F
ak
t
3.
11
.
Je
śl
i
W
=
0
or
az
W
x
=
W
y
=
0,
to
uk
ła
d
m
a
ni
es
ko
ńc
ze
ni
e
w
ie
le

ro
zw
ią
za
ń.

F
ak
t
3.
12
.
Je
śl
iW
=
0
or
az
pr
zy
na
jm
ni
ej
je
de
n
z
w
yz
nc
zn
ik
ów
sz
cz
eg
ół
ow
yc
h

W
x
lu
b
W
y
je
st
ró
żn
y
od
ze
ra
,
to
uk
ła
d
je
st
sp
rz
ec
zn
y.

3.
3
Z
ad
an
ia

Z
ad
an
ie
21
.
U
ży
w
aj
ąc
m
et
od
y
p
od
st
aw
ia
ni
a
ro
zw
ią
za
ć
uk
ła
dy
ró
w
na
ń:

a)

{ 3
x
−
2y
=
7

4x
+
2y
=
1

b)

{ 3
x
−
y
=
2

−6
x
+
2y
=
3

c)

{ x
−
2y
=
4

2x
−
3y
=
8

Z
ad
an
ie
22
.
U
ży
w
aj
ąc
m
et
od
y
pr
ze
ci
w
ny
ch
w
sp
ól
cz
yn
ni
kó
w
ro
zw
ią
ż
uk
ła
dy

ró
w
na
ń:

a)

{ x
+
y
=
7

2x
+
2y
=
4

b)

{ 1 2
x
−
3y
=
8

−2
x
+
6y
=
16

c)

{ 4
x
−
y
=
3

2x
−
2y
=
5

Z
ad
an
ie
23
.
P
od
an
y
uk
ła
d
zi
lu
st
ru
j
gr
afi
cz
ni
e
i
je
śl
i
to
m
oż
liw
e
p
od
aj
do
-

kł
ad
ne
ro
zw
ią
za
ni
e.

a)

{ 3
x
−
y
=
2

4x
+
2y
=
8

b)

{ 3
x
+
y
=
10

−x
+
y
=
−2

O
m
ów
w
ad
y
m
et
od
y
gr
afi
cz
ne
j.

Z
ad
an
ie
24
.
P
rz
yp
uś
m
y,
że
b 1
�=
0
i
b 2
�=
0.
W
te
dy
ka
żd
y
ta
ki
uk
ła
d
dw
óc
h

ró
w
na
ń
lin
io
w
yc
h
m
oż
na
sp
ro
w
ad
zi
ć
do
p
os
ta
ci
:

{ y
=
−
a
1
b 1
x
+
c 1 b 1

y
=
−
a
2
b 2
x
+
c 2 b 2

P
os
łu
gu
ją
c
si
ę
in
te
rp
re
ta
cj
ą
gr
afi
cz
ną
p
od
aj
ja
k
ilo
ść
ro
zw
ią
zą
ń
za
le
ży
od
lic
zb
:

−
a
1
b 1
,
−
a
2
b 2
,
c 1 b 1
,
c 2 b 2
.

Z
ad
an
ie
25
.
W
ka
żd
ym
z
p
od
an
yc
h
ni
że
j
pr
zy
pa
dk
ów
w
yl
ic
z
W
i
je
śl
i
W
�=

0,
to
ro
zw
ią
ż
da
ny
uk
ła
d
m
et
od
ą
w
yz
na
cz
ni
kó
w
,
a
je
śl
i
W
=
0,
to
pr
ze
z

od
p
ow
ie
dn
ie
p
om
no
że
ni
e
pr
ze
ks
zt
ał
ć
uk
ła
d
do
p
os
ta
ci
,
z
kt
ór
ej
„w
id
ać
”
ilo
ść

ro
zw
ią
zń
:

20
3.
5
Z
ad
an
ia
do
da
tk
ow
e

U
w
ag
a
3.
14
(w
yz
na
cz
ni
ki
sz
cz
eg
ól
ne
).
A
na
lo
gi
cz
ni
e
do
p
ow
yż
sz
ej
de
fin
ic
ji
,

m
oż
em
y
p
od
ać
w
zo
ry
na
w
yz
na
cz
ni
ki
sz
cz
eg
ól
ne
W
x
,W
y
,W
z
,
w
kt
ór
yc
h
od
-

p
ow
ie
dn
ią
ko
lu
m
nę
za
m
ie
ni
am
y
na
ko
lu
m
nę
d
1
,d
2
,d
3
i
ko
rz
ys
ta
m
y
z
w
zo
ru

da
ne
go
w
de
fin
ic
ji
.

W
ię
ks
zo
ść
tw
ie
rd
ze
ń
od
no
śn
ie
lic
zb
y
ro
zw
ią
za
ń
uk
ła
du
ró
w
na
ń
lin
io
w
yc
h

są
na
da
l
pr
aw
dz
iw
e.
W
sz
cz
eg
ól
no
śc
i:

•
je
śl
i
w
yz
na
cz
ni
k
gł
ów
ny
je
st
ró
żn
y
od
ze
ra
,
to
is
tn
ie
je
do
kł
ad
ni
e
je
dn
o

ro
zw
ią
za
ni
e,

•
je
śl
i
w
yz
na
cz
ni
k
gł
ów
ny
ró
w
ny
je
st
ze
ro
,
a
kt
ór
yś
(p
rz
yn
aj
m
ni
ej
je
de
n)

z
w
yz
na
cz
ni
kó
w
sz
cz
eg
ól
ny
ch
je
st
ró
żn
y
od
ze
ra
,t
o
uk
ła
d
je
st
sp
rz
ec
zn
y.

Z
ac
ho
dz
ą
ró
w
ni
eż
w
zo
ry
:

⎧ ⎪ ⎨ ⎪ ⎩x
=
W
x
W

y
=
W
y

W

z
=
W
z
W

W
od
ró
żn
ie
ni
u
od
pr
zy
pa
dk
u
dw
óc
h
ró
w
na
ń
z
dw
ie
m
a
ni
ew
ia
do
m
ym
i,
ze
-

ro
w
an
ie
si
ę
w
sz
ys
tk
ic
h
w
yz
na
cz
ni
kó
w
ni
e
ro
zs
tr
zy
ga
cz
y
uk
ła
d
je
st
sp
rz
ec
zn
y

cz
y
m
a
ni
es
ko
ńc
ze
ni
e
w
ie
le
ro
zw
ią
za
ń.

U
w
ag
a
3.
15
.
P
ow
yż
sz
a
m
et
od
a
w
yz
ni
ac
zn
ik
ów
,
„d
zi
ał
a”
ró
w
ni
eż
dl
a
w
ię
k-

sz
yc
h
uk
ła
dó
w
ró
w
na
ń.
W
zo
ry
te
j
m
et
od
y
og
ól
ni
e
na
zy
w
a
si
ę
w
zo
ra
m
i
C
ra
-

m
er
a.
M
oż
na
o
ni
ch
pr
ze
cz
yt
ać
w
in
te
rn
ec
ie
na
pr
zy
kł
ad
tu
:
ht
tp
:/
/p
l.

wi
ki
pe
di
a.
or
g/
wi
ki
/W
zo
ry
_C
ra
me
ra
.
Is
tn
ie
je
ró
w
ni
eż
ba
rd
zo
„s
zy
bk
a”
m
e-

to
da
ro
zw
ią
zy
w
an
ia
do
w
ol
ny
ch
,d
uż
yc
h
uk
ła
dó
w
ró
w
na
ń
zw
an
a
m
et
od
ą
el
im
i-

na
cj
iG
au
ss
a,
o
kt
ór
ej
m
oż
na
p
oc
zy
ta
c
na
pr
zy
kł
ad
tu
ht
tp
:/
/p
l.
wi
ki
pe
di
a.

or
g/
wi
ki
/M
et
od
a_
Ga
us
sa
.

3.
5
Z
ad
an
ia
d
od
at
ko
w
e

Z
ad
an
ie
32
.
R
oz
w
ią
ż
uk
ła
d
ró
w
na
ń:

a)

⎧ ⎪ ⎨ ⎪ ⎩x
+
y
+
z
=
18

x
−
y
−
z
=
2

x
+
y
−
z
=
2

b)

⎧ ⎪ ⎨ ⎪ ⎩x
+
y
−
2z
=
7

2x
−
y
+
2z
=
8

3x
+
2y
−
2z
=
20



3.
4
U
kł
ad
y
tr
ze
ch
(i
w
ię
ce
j)
ró
w
na
ń
lin
io
w
yc
h
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a)

{ 2
m
x
−
(m
+
2)
y
=
3m

2(
m
−
1)
x
−
m
y
=
3(
m
−
1)

b)

{ x
+
m
(m
−
1)
y
=
2m
2

x
−
(m
2
−
1)
y
=
m
(1
−
m
)

c)

{ (
m
+
1)
x
−
(m
−
1)
y
=
2m
2

m
x
−
(m
+
1)
y
=
m
(1
−
m
)

d)

{ m
x
−
2(
m
−
2)
y
=
m
+
3

(m
−
1)
x
−
2m
y
=
m

e)

{ (
m
+
1)
2
x
−
(m
2
−
1)
y
=
m
+
1

(m
−
1)
2
x
−
(m
2
−
1)
y
=
(m
−
1)
2

Z
ad
an
ie
31
.
W
na
st
ęp
uj
ąc
yc
h
uk
ła
da
ch
ró
w
na
ń
pr
zy
jm
ij
je
dn
ą
ni
ew
ia
do
m
ą

za
pa
ra
m
et
r
i
ob
lic
z
w
ar
to
śc
i
p
oz
os
ta
ły
ch
ni
ew
ia
do
m
yc
h.

a)

{ x
+
y
+
z
=
0

2x
−
y
+
3z
=
1

b)

{ 4
a
+
b
=
3

2b
−
c
=
4

c)

{ m
+
3p
−
t
=
2

2m
+
t
=
5

3.
4
U
kł
ad
y
tr
ze
ch
(i
w
ię
ce
j)
ró
w
n
ań
li
n
io
w
yc
h

W
p
op
rz
ed
ni
ch
p
od
ro
zd
zi
ał
ac
h
sk
up
ia
liś
m
y
si
ę
gł
ów
ni
e
na
ro
zw
ią
zy
w
an
iu
uk
ła
-

dó
w
dw
óc
h
ró
w
na
ń,
w
kt
ór
ym
w
ys
tę
p
ow
ał
y
dw
ie
ni
ew
ia
do
m
e
(i
cz
as
em
pa
-

ra
m
te
ry
).
M
oż
liw
e
je
st
je
dn
ak
ro
zw
ią
zy
w
an
ie
w
ię
ks
zy
ch
uk
ła
dó
w
ró
w
na
ń.

M
et
o
d
a
w
y
zn
ac
zn
ik
ów
d
la
u
k
ła
d
ów
tr
ze
ch
ró
w
n
ań
li
n
ow
y
ch
.
R
oz
-

w
aż
m
y
uk
ła
d
ró
w
na
ń:

⎧ ⎪ ⎨ ⎪ ⎩a
1
x
+
b 1
y
+
c 1
z
=
d
1

a
2
x
+
b 2
y
+
c 2
z
=
d
2

a
3
x
+
b 3
y
+
c 3
z
=
d
3

D
la
ta
ki
eg
o
uk
ła
du
ró
w
na
ń
zd
efi
ni
uj
m
y
zn
an
e
ju
ż
w
cz
eś
ni
ej
p
oj
ęc
ia
.

D
efi
n
ic
ja
3.
13
(w
yz
na
cz
ni
k
gł
ów
ny
uk
ła
du
tr
ze
ch
ró
w
na
ń
lin
io
w
yc
h)
.
W
y-

zn
ac
zn
ik
ie
m
gł
ów
ny
m
uk
ła
du
tr
ze
ch
ró
w
na
ń
lin
io
w
yc
h
z
tr
ze
m
a
ni
ew
ia
do
m
ym
i

na
zy
w
am
y
lic
zb
ę:

W
=

∣ ∣ ∣ ∣ ∣ ∣ ∣a
1
b 1
c 1

a
2
b 2
c 2

a
3
b 3
c 3

∣ ∣ ∣ ∣ ∣ ∣ ∣=
a
1
b 2
c 3
+
a
2
b 3
c 1
+
a
3
b 1
c 2
−
a
3
b 2
c 1
−
a
1
b 3
c 2
−
a
2
b 1
c 3

18
3.
3
Z
ad
an
ia

a)

{ x
+
2y
=
11

5x
−
3y
=
3

b)

{ 2
x
+
5y
=
15

3x
+
8y
=
−1

c)

{ 3
x
−
y
=
5

5x
+
2y
=
23

d)

{ 2
8x
+
35
y
+
3
=
0

12
x
+
15
y
+
25
=
0

e)

{ 2
x
+
5y
=
25

−4
x
−
10
y
=
−5
0

f)

{ 7
x
−
3y
+
1
=
0

4x
−
5y
+
17
=
0

Z
ad
an
ie
26
.
W
za
le
żn
oś
ci
od
pa
ra
m
te
ru
(p
ar
am
et
ró
w
)
p
od
aj
lic
zb
ę
ro
zw
ią
-

za
ń
dl
a:

a)

{ m
2
x
+
y
=
1

x
+
y
=
m

b)

{ x
+
y
=
a

m
x
+
y
=
0

c)

{ (
a
−
3)
x
−
4y
=
b

9x
−
(a
+
2)
y
=
−9

d)

{ 2
x
+
3y
=
4

4x
+
m
y
=
2m

e)

{ x
+
3m
y
=
1
+
m

3m
x
+
y
=
−2
(m
−
1)

Z
ad
an
ie
27
.
W
za
le
żn
oś
ci
od
pa
ra
m
et
ru
m
ro
zw
ią
ż
p
od
an
y
uk
ła
d:

a)

{ 3
x
+
m
y
=
−2

3x
+
2y
=
3

b)
(�
)

{ x
+
2y
=
4

2x
+
m
y
=
2m

c)
(�
)

{ m
x
+
y
=
m

x
+
m
y
=
m
2

Z
ad
an
ie
28
.
W
za
le
żn
oś
ci
od
pa
ra
m
te
ru
k
p
od
aj
lic
zb
ę
ro
zw
ią
za
ń
uk
ła
du
:

{ k
x
+
y
=
k
2

x
+
k
y
=
1

i
od
p
ow
ie
dz
,
dl
a
ja
ki
ch
w
ar
to
śc
i
pa
ra
m
et
ru
k
uk
ła
d:

1.
je
st
ni
es
pr
ze
cz
ny
,

2.
m
a
co
na
jm
ni
ej
je
dn
o
ro
zw
ią
za
-

ni
e,

3.
je
st
ni
eo
zn
ac
zo
ny
,

4.
m
a
co
na
jw
yż
ej
je
dn
o
ro
zw
ią
za
-

ni
e,

5.
m
a
co
na
jm
ni
ej
dw
a
ro
zw
ią
za
ni
a,

6.
m
a
do
kł
ad
ni
e
si
ed
em
ro
zw
ią
za
ń,

7.
(�
)
m
a
ro
zw
ią
za
ni
e
b
ęd
ąc
e
pa
rą

lic
zb
pr
ze
ci
w
ny
ch
.

Z
ad
an
ie
29
.
D
la
ja
ki
ch
w
ar
to
śc
i
pa
ra
m
et
ru
b
pu
nk
t
pr
ze
ci
ęc
ia
pr
os
ty
ch
da
-

ny
ch
ró
w
na
ni
am
i:

{ 2
x
−
3b
y
=
5b

x
+
2y
=
5

na
le
ży
do
cz
w
ar
te
j
ćw
ia
rt
ki
uk
ła
du
w
sp
ół
rz
ęd
ny
ch
?

Z
ad
an
ie
30
.
W
za
le
żn
oś
ci
od
pa
ra
m
te
ru
m
p
od
aj
ro
zw
ią
za
ni
e
uk
ła
dó
w
ró
w
-

na
ń:


